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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

---------- eye contact with your audience while giving your presentation.

1) Take 2) Insure 3) Direct 4) Make

If - hold true, future global population growth will be heavily concentrated in
Latin America, Africa, and South Asia.

1) projections 2) inclinations 3) interventions 4) realizations
Warning: Anyone caught stealing from these premises will be ---------- .

1) exonerated 2) intensified 3) prosecuted 4) legitimized

The manager’s inflammatory comments are just ---------- an already difficult situation.
He should think before he opens his mouth next time.

1) challenging 2) exacerbating 3) dispelling 4) affirming

The internet seems to have almost ---------- every mode of communication ever invented!
1) captivated 2) superseded 3) allocated 4) commenced

The woman is known as an ---------- woman because she gives away millions of dollars
every year to various charities.

1) economical 2) aesthetic 3) unforeseen 4) altruistic

Jen takes medicine at the first sight of a/an ---------- headache; Lin, by contrast, resists
taking medicine even when she’s really sick.

1) incipient 2) skeptical 3) ambiguous 4) credible

PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet.

Teachers play various roles in a typical classroom, but surely one of the most
important (8) ---------- classroom manager. Effective teaching and learning cannot take
place in (9) ---------- . If students are disorderly and disrespectful, and no apparent rules
and procedures guide behavior, chaos becomes the norm. In these situations, both
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teachers and students (10) ---------- . Teachers struggle to teach, and students most
likely learn much less than they should.

8- 1) being 2) of those are 3) is that of 4) ever to be is
9- 1) aclassroom is poorly managed 2) a managed classroom poorly

3) a poorly managed classroom 4) managing poorly a classroom
10- 1) suffer 2) they are suffered

3) to suffer 4) suffering

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

The development of industry and technology, alongside many positive effects such as
creating jobs, increasing productivity, increasing welfare, and economic growth, has led to
increased accidents and diseases related to work and environmental pollution. The
employees in workplace are exposed to a wide range of risk factors such as accidents,
toxic chemicals, physical risk factors, allergens, pathogens, ergonomic factors, and
unfavorable psychological conditions. According to the International Labor Organization
(ILO), there are approximately 340 million occupational accidents and 160 million
occupational diseases worldwide annually, resulting in the deaths of about 2.3 million
workers. Despite increasing attention to occupational health and safety, the ILO
assessments exhibit an upward trend in occupational accidents and diseases worldwide.
Among the occupational risk factors, accidents are of especial importance and need more
attention for several reasons as follows: (1) occur at the moment and have severe health
effects in many cases, (2) many injuries such as death and amputation are permanent and
irreversible, (3) cause more health losses in comparison to most the other occupational
risk factors such as noise pollution and asthmagens, (4) are an important concern for
employees, employers, and officials, (5) are multi-causal and reducing them requires
multiple measures, (6) their adverse effects are not limited to injuries, but also include
environmental pollution and financial losses.

11- What are the advantages of development of industry and technology?
1) Increasing welfare and accidents
2) Increasing efficiency and creating jobs
3) Economic growth and sustainable development
4) Increasing productivity and environmental pollution
12- Which sentence, according to the passage, is TRUE?
1) The occupational injuries are permanent and irreversible.
2) The occupational risk factors are of the same importance.
3) The occupational accidents and diseases exhibit an increase globally.
4) The upward trend in occupational accidents is due to lack of attention to occupational
safety.
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13-

14-

15-

16-

Which sentence, according to the passage, is TRUE?

1) The health losses of occupational accidents are higher than those of work-related
diseases.

2) The occupational accidents are identified as the most harmful risk factor of the
workplaces.

3) The occupational accidents result in the deaths of about 2.3 million workers worldwide
annually.

4) The number occupational accidents are higher than the incidence of work-related
diseases.

The special aspect of the occupational accidents as an occupational risk factor is ---------- .

1) both health losses and environmental pollution

2) high frequency and severity rates

3) low efticiency of control measures

4) long duration of injuries cure and recovery

The phrase “risk factors” in the text can be best replaced with ---------- .

1) adverse effects 2) occupational hazards
3) occupational factors 4) environmental hazards
PASSAGE 2:

An occupational accident that can result due to unsafe acts and unsafe conditions
adversely affects the production, costs and productivity of any industrial setup. It spoils
reputation and demoralizes workers. Many times, it results in court inquiries and
disputes. The occupational diseases that can be due to degradation of quality in the work
environment can reduce working efficiency of industrial workers, their morale and
ultimately reputation of the company. The other problem of any industrial setup is
environmental issues due to production of gaseous, liquid, and solid waste. Ultimately,
they result in a deviation from the laid-out objectives and goals of a company. Thus, the
logical approach is a thorough balance amongst the (a) production, (b) productivity and
(c) health, safety, and environment (HSE), giving equal weight to each of these
components, like three sides of an equilateral triangle. The HSE management is amongst
the critical business activities in achieving the set goals and objectives of a company.
Any imbalance amongst them can jeopardize business. It can be achieved by
considering HSE as one of the critical business activities, on par with production and
productivity and managing it by following the basic principles of business management:
(1) organization, (2) policy, (3) procedures, (4) supervision, (5) management review and
appraisal. In addition to above concepts, the important aspect that need to be addressed
is ‘Sustainable Development’. Sustainable development is an organizing principle for
meeting human development goals while also sustaining the ability of natural systems to
provide the natural resources and ecosystem services on which the economy and society
depend.

Which sentence, according to the passage, is TRUE?

1) HSE management is a critical business activity.

2) There is no difference between HSE management and sustainable development.

3) The logical approach is a thorough balance amongst health, safety, and environment.

4) HSE management should be considered in laying out objectives and goals of a
company.
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The word “reputation” in the text can be best replaced with ----------

1) production 2) property 3) brand 4) credit

What is the best meaning of the phrase “degradation of quality in the work environment”?
1) Occupational hazard 2) Workplace pollution

3) Environmental pollution 4) Environmental degradation

According to the passage, the basic principles of HSE management include ---------- .
1) policy and objectives

2) supervision and organization

3) zero accident and pollution prevention

4) sustainable development and prevention of occupational accidents

What does the word “they” in line 8 refer to?

1) Worker injuries, court inquiries, and disputes

2) Occupational accidents, occupational diseases, and environmental issues

3) Reputation of the company and production of gaseous, liquid, and solid waste

4) Reducing working efficiency of industrial workers and reputation of the company

PASSAGE 3:

Human exposure to air pollution is highly variable, reflecting the strong spatial and
temporal variability of air pollutant concentrations in urban environments. A wide variety
of outdoor and indoor sources contribute to acute and chronic exposures to respirable
particles, carbon monoxide, nitrogen oxides, sulfur dioxide, ozone, volatile organic
compounds (VOCs) and polycyclic aromatic hydrocarbons (PAHs). Ambient air quality
measurements and dispersion model simulations are commonly used to estimate
population exposure to air pollutants in cities. In addition, time-activity micro
environmental and other dynamic time-space models can be used to characterize the
personal exposure of individuals or population subgroups. People typically spend 90% of
their time indoors, and impact of indoor sources, such as tobacco smoking, gas cooking,
construction and furnishing materials, and household chemicals (e.g., paints, adhesives,
cleaning products, etc.) on personal exposure can become dominant. Recent exposure
surveys have shown that personal exposure is typically higher than both indoor and
outdoor concentrations of traffic-related pollutants such as benzene. In most cases, this is
due to peak personal exposures occurring within transient and other highly polluted
microenvironments (e.g., gas stations, garages, etc.). In developing countries, domestic
fuel combustion (e.g., biomass burning for cooking and heating) has been identified as a
major factor contributing to elevated exposure of the population to respirable particles,
carbon monoxide, PAHs, nitrogen oxides and sulfur dioxide.

Which sentence, according to the passage, is TRUE?

1) Concentration of pollutants in outdoor is usually higher than that in indoor.

2) Indoor pollutants contribute to acute health effects and outdoor pollutants cause
chronic outcomes.

3) Human exposure to air pollution is determined by outdoor and indoor concentration
of pollutants.

4) Human exposure to air pollution is determined by exposure time and concentration
of pollutants.



o f ww,b‘ gy}TMQU -9 fu;uﬁjw

§ axivo @@@ 914F @Q@@ (1YAF uF) Coms sl § Culbligg o oo

23-

24-

25-

Which sentence, according to the passage, is TRUE?

1) Personal exposure is determined based on indoor concentration of pollutants.

2) Personal exposure is determined based on outdoor concentration of pollutants.

3) Highly polluted microenvironments play an important role in personal exposure.

4) Domestic fuel combustion is an important source of air pollution in developed

countries.
What are the tools used to determine personal exposure?
1) Dynamic time-space models 2) Dispersion model simulations
3) Indoor air quality measurements 4) Ambient air quality measurements
The word “chronic” in the text can be best replaced with ---------- .
1) toxic 2) long-term 3) short-term 4) sub-toxic

The indoor sources of air pollution include ---------- .

1) carbon monoxide and polycyclic aromatic hydrocarbons
2) tobacco smoking and microenvironments

3) construction projects and gas stations

4) domestic fuel combustion and cleaning products
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